Total No. of Printed Pz

(DO NOT OPEN THIS QUESTION BOOKLET BEFORE TIME OR UNTII
ARE ASKED TO DO SO)

PG-EE-2013 |
SUBJECT : Commerce
A | 0 .. Sr.No.

Time : 1% Hours _ Max. Marks : 100 Total Questions : 100

: Roll No. (in figures) (in words) _
. Name ' : Father's Name
Mother's Name __ : Date of Examination
. (Signature-of the Candidate) | (Signature of the Invigila'tor)

| CANDIDATES MUST READ THE FOLLOWING INFORMATION/INSTRUCTIONS BEFORE
STARTING THE QUESTION PAPER.

1. All questions are compulsory and carry equal marks.

2. The candidates must return the question booklet as well as OMR Answer-Sheet to the
Invigilator concerned before leaving the Examination Hall, falling which a case of use of
unfair-means/misbehaviour will be registered against him/her, in addition to lodging of an
FIR with the police. Further the answer-sheet of such a candidate will not be evaluated.

3. In case there is any discrepancy in any question(s) in the Question Booklet, the same may
be brought to the notice of the Controller of Examinations in writing within two hours after
the test is over. No such complaint(s) will be entertained thereafter.

4. The candidate must not do any rough work or wntlng'! trj the OMR Answer-Sheet. Rough
work, if any, may be done in the question booklet itself. Answers Must Not be ticked in the
question booklet.

S. Use only black or blue ball point pen of goed:quality in the OMR Answer-Sheet.
8. There will be no negative marking. Each correct answer will be awarded one full mark.

Cutling, erasing, overwriting and more than one answer in OMR Answer-Sheet wnll be
treated as incorrect answer.

7. Before answering the guestions, the candidates should ensure that they have been supplied
correct and complete booklet, containing 100 questions (Sr. No. 1 100). Complaints, if
any, regarding misprinting etc. will not be entertained 30 minu
examination. _

PG-EE-2013/Commerce/(A) | Qj’]a '}2 "




1. Which one of the following is true about accounting ?

(1) Accounting is judgemental at times

(2) Accounting is not a language

(3) Aécounting does not give information for decision making

(4) Accounting does not communicate all kinds of information for financial analysis
oEHT & aR H e § Qe 99 gg R ?

(1) ogie" W R Foiges exht 2

(2) <IGid= U A9 78l §

(3) wrFiH fAofa o § Savdd WaAT A e BRar

(4) i Rivewy & forg GG Tl JBR B @Y T TE B

2. The term GAAP is used to describe rules developed for the preparation of :

(1) P&LA/c . (2) Balance Sheet

(3) Fund Flow Statement (4) Financial Statements

S T UG AE &1y e A Rl U @Y R e # manr et @1 Seo e
forg forar wmar 2 _ : '
(1) sm-grfs @mar (2) for

(3) ®e yarg faex (4) fa=frg fag=or

3. (i) Sales Tax payable A/cis Nominal A/c.
(i) Purchase A/cis Real A/c.
(iii) Drawing A/cis Real A/c.

e p— .

Which one of the following is true about these thre(;: statements ?

(1) Only (i) is correct (2) All aré @orrect

(3) Only (iii) is correct (4) Only (ii) is correct

() 2T R B @ AEE @ T L g

(i) 7 @ IS @A e |

(iii) W@WWWW%I

5 o Qaxel @ IR H A H 9 w1 @@ e 7

(1) &aa (i) 98 2 (2) wf wEr &

(3) Fa (iil) ¥ 2 (4) DI (ii) FE &
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4. Formula:1- (P{T/f{V + Cost of Assets x 100) is for: -
(1) DiﬁdMskdng Balaﬁce Method of Depreciation
(2) Straight Line Method of Depreciation
(3) Digital Square Root Method

(4) Weighted A\;erége Method :
qa:l—(l\!/EVHm%anmxloo)ﬁwﬁﬁfﬁmzﬁ%ﬁ%?
(1) &xT B gedl & A 8g

() T B TR e o 3

(3) Rforea wie fafy =g

(4) RT3 =G

5. Which one of the followihg statement is correct ?
(1) Goodwill is a fictitious asset

(2) Capital is equal to all assets minus fictitious assets

(.3) Net loss is reflected in lower net worth
(4) Net profit is reflected in higher cash balance
e # § BT BAT WET® 7

3) fr I & @ gg o gfifafed gl ©
(4)‘Bﬁiﬂ'ﬂﬁ?|ﬂ@!?jgmﬂﬁﬁfiﬂﬁiﬁm%\

6. Given : Opening Stock of Raw Materials = Rs. 10,000; Purchases = Rs. 70,000;
Drawbacks = Rs. 4,000; Cash subsidies = Rs. 3,000; Closing raw materials = Rs.
The amount of raw materials consumed will be :

(1) Rs. 59,000 (2) Rs. 49,000 (3) Rs.35000 . (4) Rs.75,000
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A ' 3
faar 8 : wedt w1 URMRS REfrar = 10,000 Bo; HA = 70,000 To; Yo A FHawn
= 4,000 Bo; He HERIAT = 3,000 To; 3=\ AHUT & = 5,000 %o |
Fed! A & FANT B AR IR B :

(1) 59,000%0 &  (2) 49,000%0 &  (3) 35000%0 &  (4) 75,000%0 &

7. 'A’,'B'and 'C' are partners in a firm in the ratio of 3: 2 : 1. 'D' was admitted in 1/6 for
which ‘A" and 'B' sacrificed equally. The profit sharing ratio will be :
() 5:3:2:2 (2) 4:4:2:2 (3) Sed:3u2  (4) 4:2:4:2

W, T FAT F FHER BH H 3:2: 1% U W WHER B T B BH H 1/6 D fow
wfer fbam AT | $9 1/6 BT ‘9 AT ‘g SRTER T | AT O AT B

(1) 5:3:2 :26nC (g . 4.9 D (@) 5:2:3:2 (4) 4:2:4:2

8. At the time of dissolution of firm, the balances of fictitious assets are transferred to:

(1) Realization a/c of partners (2) Capital a/c of partners

(3) Currentaccounts of partners - (4) Partners’ personal accounts
BH & FAOE W HARRIQD FEURE & A6 B REFART BT o @ ¢
(1) ATEERI & e @rar § (2) 9EERI & o @l #

(3) ﬁiéqmi % olel @Il # ‘ (4) WERERT & @fRTg @l &

9. In 'Singie Entry System’, the capital balances are found by preparing :

(1) Balance Sheets (2) Capital Accounts

(3) Assets Account : (4) Statemnent of Affairs

e TR STl 3 Goh @ It @Y o fear e &, A ¥ Y Bl Tr T AR AR D -
(1) forEr () TN

(3) W @ T (8) B Raeer

10. Given : Cash Price of a machine = Rs. 10,000. It was taken on hire-purchase system.
Instalments : 1st year Rs. 3,800; 2nd year Rs. 2 00 and 3rd year Rs. 3,300. Rate of
interest = 10% p.a. Down payment = 20% of cash price.

The amount of interest in first instalment will be of :
(1) Rs.921 (2) Rs.910  (3) Rs. 821 ~(4) Rs.810
PG-EE-2013/(Commerce)(A) _ - - P Va0,



g ) : A
fear & : WWWWW-NOOOEGIWWWW%WWWI%
qor ¥ 3,800 Bo; G4 a§ 2,500 To R AR a¥ 3,300 Fo | AT &R = 10% Ul I¥ |
T Y YA = FHE g9 DI 20% |
nmﬁﬁaﬁmﬁwﬁra‘ﬁ '

(1) 921 %o (2) 910 %o (3) 821 %0 (4) 810%0

11. When a manager exermsed kindliness and justice in dealing with his subordinates,
then it indicated that he believed in :

(1) Cooperation under Scientific Rules

(2) Democratic behaviour under Motivation
(3) Huminity

(4) Fayol's principle of 'Equity’

mww#mmﬂﬂwﬁ%waﬁmmqﬁwgmmmmmm ar
SRR I8 39N o & % 98 favars x@dr © |

(1) gearT dsnfe Frrrgar A

(2) RO B s APATEE wER A
(3) ArEaT ¥

(4) e D wET Regr

12. Work study, time study and the fatigue study were conducted by :

(1) Mc Gregor (2) H. Fayol
(3) F.W. Taylor (4) K. O.Donnel
BT eI, G IEAIS AR IH AT Bl Aarer fhar w4
1) ¥ FRERT ‘ 4’{2) Tgo A ERI
| (3) TWo S=go TR NI 4) Do Mo ST FRI
| 13. 'Management by Objectives"isialso known as :
(1) Management by Settings : (2) Management by System
(3) Management by Exception (4) Management by Results
e g s e A W T ok T X e o # 1 9 @
(1) R g e . (2) FOTEN ERT T

(3) JuarE FRT WERF (4) oRemEi gRT ya™
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14. 'Two Heads are better than one.' This maxim is used for

(1) Group planning (2) Management by changes

(3) Group functioning principle (4) Human approach of management
< AT @ W W B ¥ A8 pEEd w9 § o o B
(1) \HE AR 2 | (2) uRad=T gRT =T 8
3) E T Rigra 2q (4) v B AEaT Rigr &g
15. Employees ......... and resist control. One of the following will complete the statement

correctly. Which is that ?
(1) avoid (2) defer (3) dislike (4) hate |
PHANITO =0T BT ... TN SHHT TR Fd & | e S 390 98 7 e ?
(1) |Ed & (2) <o & (3) IUET BRI E (4) UM B &

16. An inner state that activates, directs, sustains and steps behaviour toward goals is
called : :
(1) Motive (2) Instinction (3) Zeal - (4) Courage

T ASoAl G O FIER BT o6 B AR fparfeag ot & fRem < 2 e v @
TAT AHA B | 3H PEA & ¢

(1) RS (2) 7o wgRT (3) &t (4) ST
17. An autocratic style is also known as :

(1) Complete style (2) Essential style

(3) Benevalent style 4) Dire&i}ie style

(1) |t it § "(3) IS Sl ¥

(3) @rERE dh | (é)ﬁéﬁw%ﬁﬁ“
18. 'Power is supreme’, is the most important theme of :

(1) Theory - Z of motivation ~ (2) Theory - X of leadership

(3) Theory - X of motivation (4) Theory of power style
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wﬁﬂﬂaﬁﬁéﬁuﬁaw%
(1) AfBRY & Rygra-sie &1 () Y@ @ Rrgra-uad &
(3) AfERT @ Rigra-Ta a1 (4) -3l @ Rgra @

19. A notion which includes all types of interferences between the transmission and the
reception of messages, is called : ' '

(15 Distortion (2) Noise A (3) Conflict (4) Barrier

wwa‘ra%zﬁmﬁqaﬁw.ﬁvﬁamﬁ@ﬁﬁ%: |

(1) fogfr . (2 @ (3 fRw . (4) vEEE
20. Induction is associated with recruitment and .............. 3 '

(1) Training (2) Development" (3) Appointment (4) Selection

eI TR & AR @R L Tt _ :

1) wf¥weror & 2 SeEd - 3 Fmw 4) TE

21. General - offer means an offer made to :
(1) World at large - (2) National level
(3) World of business (4) World of contract makers

AT BT 3 © wa o

(1) gea & # () T wR
! ]
(3) FUR & @b A _ ?-@)agaaawﬁma’i%a’mﬁ

22. 'Consensus of idem' means :

v B
>

(1) Identity of minds : (2) Identity of free consent -

(3) Identity of mistake ~* (4) Free consent
(1) Rrami @ g (@ v @ e
(3) TR B BT (@) T e
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23. Read the following statements carefully :
(a) The discharge of principle debtor will discharge the surety also.
(b) The number of contracts in a contract of guarantee are three.

&

Now, which one of the following alternative is correct about these statements ?

(1) 'a'and b’ both are correct (2) 'a' and 'b' both are incorrect
(3) 'a'is false, b is correct . (4) 'a'is true, 'b'is false

(@) TP WIE HOEN B qaT AT SHATER BT A Ja DA BN |
@) Wﬂtﬁﬁaﬂaéﬁﬁwﬁwﬁ%ﬁamaﬁmﬁél

& 2 e @ AR ¥ P d e R wE E 2

(1) ‘o qur T I O & | (2) ‘& qm g S T ©
@3) ‘o I L, T AP @) ‘o @ ¥, T oy ¥

24, Pledgeisa type of:

(1)' Loan . (2) Debt .(3) Bailment (4) Agency contract
e TP FOR B | e ‘

(i) FT BT (2) ®ol & (3) e @1 (4) TORA IE™ BT
25. A breach of condition may be treated as a breach of :

(1) Warranty : (2) Contfa;;-‘t

(3) Confidence (4) Consensus :

I HIHT HRAT GAA G FHaAT & o

(1) 9REY BT G BT “(2) e BT B

(3) fawar &t dre (4) |EAfT B AT BT
26. An ordinary partnership Ifirm can havex

(1) not have more than 20 partners (2) not have more than 30 partners

(3) not have sleeping partners (4) not have more than 50 partners

PG-EE-2013/(Commerce)(A) ' PiR.0.



TP ARIRYT ARIERI BH § 78] 8 9hd ¢
(1) 20 WRER F fF WEER © 30 TR W i WEAR
(3) ffdpa A=ER _ (4) 50 WEER] & 3PP AEER

27. A partnership firm may be dxssolved by any partners by g1vmg a notice to other
partners in case :

(1) Dormant firm ' (2) Fixed partnership

(3) Purposive partnership - (4) Pértnership atwill |
Wwwmwwwmﬁmmﬁwﬂmmm% Sisl
RIT ¥ WY ¢ _

(1) B9 SERI & (2) Yol AHER &
_(3)'@31@6?1@31%31 (4) Qe IUE ) B

28. A Bill of Exchange dated 29.01.2012 is made payable at one month after date. The Bill
will mature on :

(1) March1,2012 2) March 2, 2012
(3) Feb. 29, 2012 : (4) March 3,2012 :
29.01.20123frﬁm11%ﬁwﬁwwmgaﬁéaﬁ;mW|a?ﬁwqﬁmaﬁm%:

(1) = 1,2012 B | (@) =2, 2012
(3) ®Ra129,2012 T (4) 74 3, 2012 BT
29. The controllmg authorxry of a company d;hder the Companies Act 15
(1) General Manager | _ (2) Secretary of the Company
(3) Director Control ; A (4) Board of Directors
T SR & dEa T B PR @) e e # |
(1) | ees & I ' (2) T B FUF B 9H
(3) PRI Hures & g - (4)@@%‘&@
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.30. "Every company should maintain a ... where all contracts of interest of
Directors'. Which one of the following will complete the statement correctly ?

(1) M.O.U. - (2) Register

(3) alogbook (4) Directors interest_log book

"TRF HEA DI GATATD B Rl qATT ATIEN BT oo g e | e # ) e
Gl WIE & |E R BT ? _

(1) THo 3fo o (2) foeR Sq

@) @ g | (@) et B e aTeh T g

31. Which one of the following Résolution cannot be passed by circulation ?
(1) Filling the relative of Secretary's posf |
(2) Filling thé post of Control Auditor Si
(3) Filling the casual vacancy in Board
(4) Issue of hbuses to Directors ;
Frer ¥ ¥ B9 SR TR G O 78T @RI W Wb § 2
(1) Wt B T A e T 5
(2) = 31%&1?5 P TTE A B
(3) 9 # FHRFS WAl SITE HRA BT
- (4) et B AEE EET SR B 4z

.r ;. .
] i

32. A Public Company with paid up Capital of Rs. Five Crores or more is required to
appoint : 2 SRS

-
v

b

(1) a company secretary
(2) MD under Section 298-A

(3) Audit Committee u/S 292-A

1ol

(4) Cost and Works Accountant u/S5 292-A
PG-EE-2013/(Commerce)(A) P.T.O.
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33.

34.

35.

ﬁammsﬂﬁéﬁaﬁmaﬁmfﬁaﬁﬁvﬁmﬁiﬁm%aﬁmﬁm*@:

(1) o =1 aftg Fgad oA 3

(2) ERT 298-A & Ted THo o fga BT B
(3) =T 292-A & qEd bav WG Fgaa = &
(4) @FTE Td B @R B PR arT 292-A & swrla

The Domicile clause of a company is contained in :

(1) Articles of Association

(3) Incorporation Letter

(1) YfeE-argess ¥

(3) AT 9A H
Secretarial practice means :
(1) Practical aspects

(3) Meetings of every type
s HFEREd
(1) aeiRe Jegell |

(3) TAF THR £ AT

£

(2) Memorandum of Association

(4) Company's Charter

wwﬁfﬁaﬁaﬂ?mﬁ%@m%

(2) ¥ew aife YEREE §
(4) HT & IR A

(2) Office-design of the company

(4) Agenda writing of the meetings

2) A B BATEI-IRET A
4) ﬁ%ﬂﬁqﬁtﬂ%@#ﬁ

The 'Register of Debenture holders'is !

(1) a statutory register

4 -
(3) an informal register

SFUTUFURS] BT IfoRex’ BT © ¢ I
(1) w affe PR
(3) TP IEERE AoRex

PG-EE-2013/(Commerce)(A)

(2) a corporate kind of register

(4) aregister of issue of bonds

2) T BARe e o1 AR
@) svel & T o1 W




36. The sanction for reissue of Debenture is made by :

(1) Special Meeting of Directors

(3) Board of Directors

(2) Annual General Meeting

(4) Ordinary Resolution

FogEl HT gAFTET F 9m @ Wi ) SRl 2

(1) el o faey AT & grr

(3) HETEP dre IR

‘

37. The Histogram can also be shown as a :
(1) Frequency Gram
(3) Ratio Graph

(2) affs AR |H ERT

(4) ARV IXAG 1T

(2) Frequency Polygon
(4) Frequency Graph

smrafers @ e § 4 v iR e A N R S wear

(1) smgfer o
(3) 3T ITH
38. X =m-i(F-1) is under:
(1) Charter Method
(3) Summation Method

(2) 3mgRT agqS
(4) smaRy 9T

(2) Charlier Method
(4) Laplace Method

X =m—i(F~1) & 91 & 3fasfa <=1 S & ¢

(1) =R fafy
(3) Fwed fafey

) awﬁ-{;w fafer
(4) o

39. Which one of the following is called 'positive average' ?

(1) Geometric Mean

(3) Median

(2) Harmonic Mean

(4) Weighted Arithmetic Mean

P & e R e e

(1) =faeha sivaa
- (3) wifege®T
PG-EE-ZOIBI(Commerce)(A)

(2) TS T
(4) 9Ra T sfrAa

11

P.T.O.



12

41.

42.

43.

(c+%) isknown as :
(1) Standard Variate Coefficient (2) Coefficient of Mean
(3) Variant Coefficient (4) Coefficient of Standard Deviation

(0 +X) B ST T B

(1) s R o (@) ot @ e @

@) Rl ErEE (&) T e B o W
Jvariance is equal to :
(1) correlatioh coefficient " (2) coefficient of variation
(3) standard deviation I (4) mean variation
VIR SRR §
(1) Few=m e W (2) fraxor oriE &
(3) wa Reem & (4) st R &

[Q; — Median] - [Median — Q] = Zero. It indicates that the distribution is :

(1) symmetricéijﬁ{'{x:} 55 (2) non-symmetrical
{eihimgesien 0 : :
(3) binomial e : - (4) Poisson

[Q; *WI—I[W—QI]:W| I% gaTm & 5 §e

1) afgg g 0w , () wrafeE @

& Tow TR )t

Index No. ;Zﬁi%_;ﬁpm What will be written in place of 'I?' ?

2 Lol
1) > pid0 2). 2_Podo B3 2 4) > pPom
G CEZE] =Z€Iq° x 2P . e (') F SR A f“atcn SR ?
; %Zpoql ; : e
M 2pdo @ Yot @3 > 4 > pon

PG-EE-2013/(Commerce)(A)
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45.

44.

46.

Pearson's coefficient of correlation is also known as :
(1) Standardized correlation point .

(2) Free correlation

(3) Product moment correlation coefficient

(4) oy D, (4

s & weaas TS ﬁ ff ST ST ?:4‘

(1) wig wea fag 9

2) W wEEEH 4

(3) TUEHe Ut wEEER e H

4) oy . X;.X; W

When the promoters are issued shares for company formation services, one of the
following account is debited :

(1) Promoter's A/c (2) Preliminary Expenses A/c

(3) Incorporation A/c (4) Company Formation A /c

o st @ T e @ Sl @ R o Frifi By o & o B ¥ T A
31 e R o @ el

(1) vade! &7 @ ' (2)m=rfhw@a"faa-rw

(3) WHER @t P o A4 Mﬁﬂhmw

The 'Pooling of Interest Method' of accountmg entries is .followed in case of :

(1) Merger . @ Dissolation.

(3) Incorporation (4) Reconstruction

TS B garReT fafy ﬁaﬁmnﬁﬁﬁwﬁaﬁﬁﬁmawﬁmmé:
(1)@%?!’&35’1@‘*. (2)Waﬁw3§ﬁ |

(3) \HIYA @ g A (4)gaﬁﬂfwa%§§nﬁ
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. Given : Normal profit = Rs. 15,000 (10%); Average profit of 5 years = Rs. 16,400; Non-
recurring profits = Rs. 1,000 p.a.; Present value of annuity of Re. 1 for 5 years at 10% =
Rs. 3.79.

What will be the value of goodwill ?

(1) Rs.1416 (2) Rs.5306 (3) Rs.1516  (4) Rs.4,306

fear 8 : ameI @M = 15,000 Bo (10%); Ura a8t @7 aia o & = 16,400 So; JAEdH
R 8 = 1,000 o T 9. 1 %o Y 5 a8t & forg aiffah & g = 379@010"/09%3#
o5 € (RS

w@fa @Y fdr @ 86 ?
(1) 1,416%0 @) 5306%  (3) 1,516 %0 (4) 4306%0

If the remuneration of liquidator is to be given on unsecured creditors, then the
remuneration will also be given on : :

(1) partially secured creditors
.(2) preferential creditors
(3) debentures
(4) mortgaged loans
afe aREATIS 1 TIRAAE SRR Feorararedi o= <A1 € o uRHARAS
(1) it QR o TR A R S
(2) rfemT FeoraTarsi W) A fear s
(3) TRl W @ far SR

v
(4) T For W ) fEur wRm !

i

49. The dividends received from Subs1dlary Company out of pre—acqulsmon proﬁts
should be deducted by the Holding Company from the : :

(1) Cost of shares purchase from Subsidiary Company
(2) Goodwill of Holding Company 2
(3) Capital Reserve of Hoiding Company

| . (4) General Reserve of Holding Company
PG-EE-2013/(Commerce)(A)
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RETIS TN W H0 D G B @nl K 5 A B P e @ wer d i -
(1) e g & Wi T ol a3 '
Q) Frr=s o 7 @l ¥ 9
3) Fa=s s & o w9ai § 9 ;
@) Pro=m wed @ W s W

50. Which one of the following statements is incorrect ?

(1) Shares are fevalued.for estate duty after the death of the shareholder
(2) Shares are ndt valued for Wealth Tax
(3) .Shares afe valued when morfgaéed
(4) Accumulated profits affect the value of shares
=1 # | BE-a $AF TorT B 2 ¢ -
(1) ST B G B qC wRT B g SrA BT g R o @
(2) 379 BT GAHAHT g9 BR ¥ Tl fbAT S
(3) ol @1 ARAY Y& THT SPT qedio [Har o7ar 2
(4) <fa o, fEl & Jou & ywifad B €

51. Which one of the following is the Accounting Standard for the Amalgamations ?

(1) AS17 2) AS-19 (3) AS15 . (4) AS-14
ﬁmﬁﬁmﬁﬁmmﬂm@ﬁmﬂr%ﬁwﬁ?-t '
(1) T @17 (2) T TE-19 (@) TTEI54  (4) TUEl4
52. Reconstruction A/c - Dr. Rs. 25,000
To Premises A /¢ = ﬁs"25 000

This journal entry at the time of reconstruction indicates that :
(1) premises were written up by Rs. 25,000

(2) premises were written down by Rs. 25,000

(3) reconstruction a/c was abolished

- (4) premises were sold out

PG-EE-2013/(Commerce)(A) , P.T.O.




gAfHHTOT @It L Dr. 25,000 %o
P g9 IR @@ar - - 25,000 %o
qaffafor & w7a g8 wfafte A § ¢

(1) wa aRER BT 25,000 ¥ & o R
(i) a uRER B 25,000 $o | FH @
(3) e TRER TR B T R 3

(4) I TRIR FY 25,000 To # 4 fazm

53. The left hand side of the Balance Sheet represents :

(1) Capital Structure (2) Capital Level

(3) Financial Structure (4) Gross worth for outsiders
frg @ I TS Fred A ¢

(1) Toht S & 2) Th TR BT

3) facfa & @1 | (4) T @t B fog w@e o @1

54. A capital structure restricted to claim of the equity shareholders, is called :

(1) a complet_e:capital structure (2) a complex capital design
(3-) a simple, capital structure (4) an gql‘.;ity structure
wqwmmwmmﬁmmmm’%wmﬁ
(1) & Ft N e . (2) T wRw G <t
(3) T WERel Ioll e _ (4) U@ T g

55. When there is use of fixed charge securities in the capitalization of a company then
that is knownas: .

(1) long term capital (2) operating system capital

(3). financial leverage _ (4) financial structure
PG-EE-2013/(Commerce)(A)
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T& N & Yolleeor # Sfd I J9R B gt B it @ 2, o 9 o e & -

(1) <= oaf & G & | (2) uRener vgfa Goft 9

(3) frfra e @ (@) fcfra o &

Credit and collection policies of an organization influence :

(1) working ca_pital requirement (2) capital structure

(3) capital size (4) capital mix ‘
mﬁwmwﬁﬁaﬂ#aﬂ% (FTes 1) gwifida T 2

(1) g o @ v @ @) G e B

(3) ol 3MBR BI (4) ST fAsor 3y

The internal rate of return of a project is (i) .......... which market net present value
equal to (ii) ........... - Fill in the blanks correctly from the following :

(1) Normal rate in (i) and profit at (ii)
(2) Discount rate in (i) and zero at (ii)
(3) Interest rate in (i) and normal rate at (ii)

(4) Interest rate in (i) and zero at (ii)

U IRAT BT ARSI R () ... Bl 8 S SHS TAHE BT B (i) v,

a%a?mwé?ﬁﬁiﬁﬁ'ﬁﬁﬁﬁ-?ﬂﬂﬁﬁﬁaﬁwﬁaﬁqﬁm?
(1) () ¥ amrg &= 3R (i) § am™ 4
(2) @)% 7E1 X AR (i) F T '
(3) (i) ¥ =1 &= iR (i) ¥ 9= =% .
(4) (i) =aro1 =% R (i) § =

Given : Face value of a share = Rs. 10. Issue expenses = Re. 1 per share. Consistent rate
of dividend per share = Rs. 4. The company plans to issue new shares at Rs. 20
premium. : _

What will be the cost of new equity share ?

(1) 9% - (2) 13.79% (3) 12.89% (4) 26%

PG-EE-2013/(Commerce)(A) P. T..O;
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60.

61.

: - A
foar & + oi @ T qed = 10 %o | FfE B @ = 1 To WA | arater @ THAS R
= 4 %o Pyifg T AEd € (4 o) | . |

T AT % @ ARTT @ ghfl 7

(1) 9% - (2) 13.79% (3) 12.89% 4) 26%

Cash paid to supplier for goods purchased is : -

(1) outflow under operating use (AS-2)

. (2) outflow under investing activity

(3) outflow under financing activity

(4) outflow under operating activity

T @ offeat B T F1 g e (@i W)
1) M@ ¥4 Yo THo-2 aed aRETe W §

(2) aifkats Faeh fvar & sl ® |

(3) aifEate R fa & swra &

(4) sifeate uReEre B & oid &

Which one of the following is considered as short term solvency ratio ?

(1) Activity ratio (2) Capital Employed ratio
(3) Current ratio (4) Proprietary ratio
ﬁﬁrﬁﬁaﬁawm@mmﬂﬁsﬂwmaﬁmwm%?
(1) fwm argaa ) Fﬁﬁﬁm 3T

(3) = ST - (@) I ST

The 'Standard Money'isaclassof: . - .

(1) Paper Money f.L(?_) Fiate money.'

(3) Token Money RSy (4) Metallic Money

T ST ® | R

(1) Pt @ qEr Aoh @ (2) sme qET @Y AR

(3) 2B gaT B AN A (4) ©Tg B FaT AU BT
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62. Liquidity trap is associated with demand for money and the :
(1) Level of interest rates ' (2) Keyne's theory
(3) Gresham's law (4) Supply of money
SadT B GRYT ® HET 91 AT ¥ &k
(1) =S R P &R 9 2) #ra B Rigra A
@) I @ FaE | @) J g
63. The contraction of Bank Credit and the volume purchasing power indicated :
(1) inflation (2) recession *  (3) deflation .= (4) contraction
Il BT ARG TN Y KT B GRATT B T B -
(1) 57T SR @1 (2) A=Y &Y (3) IURBHT BT (4) HagET B
64. Which one of the following is not the constituent of money market ?
(1) Commercial Bank (2) Credit Rating Agency
(3) Acceptance House (4) Non-Banking Financial Institution
1 % & #F-a1 951 99R @7 Sues 98 & ?
(1) @maies & (2) W Fgas TorRh
(3) el sew (4) srdfdT fachy weemd
65. Nationalization of Banks is also called :
(1) Socialization of Banks (2) Generalization of Banks
(3) Secularliz.ation of Banks (4) Democratization of Banks
(1) 9 &1 FHTERor 9§ (2) d@f BT FEERGHROT WY
(3) df @1 Aoy ) (4)%%%%@%@11%
88 " . is one of the main weapoﬁs with RBI for controlling credit in the economy."
The blank space will correctly be filled by, :
(1) Monetary circulations . (2) Banking operations
(3) Open market operations ; (4) Credit rationing
PG-EE-2013/(Commerce)(A) P.T.O.
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67.

68.

69.

70.

_ : A
pofareen 3 W@ Fra= ¥ SR dlo Ao B UK e TP HTH gRR B Grell

I A FE W W R S
1) s aRerer e 2) e frard
(3) e SR A (4) T @Y AT

The nationalization of RBI took place in :
(1) Jan., 1948 (2) Jan., 1949 (3) Feb, 1950  (4) March, 1950
R0 o Ao BT IIKIDRT E1;T - ;

(1) o, 1948 F§  (2) SEd, 1949 §  (3) HRay, 1950 ¥ (4) 9rd, 19504

The 'Lead Bank Scheme' was introduced by :

(1) RBI

(2) SBI

(3) Gurgaon Gramin Bank

(4) National Bank for Agriculture Reconstruction and Development
(1) 3MRe o a0 ERT

(2) THo o 3o BT

3) Teita e dF &R

(4) P R den Ram B fg Wi 9 e’

A sustainable annual increase in GNP at rate varying from 5% to 7% or more is called :
(1) Economic Growth : (2) Economic Development

(3) Economic Rebustness . LAl Ecgngmic good health

@ TS e ¥ 5% @ o, o T T i e gt PR U & A & @ I
PEd © . :

) s gfE .;(i)aﬂﬁﬂiwﬁ'

(3) enfdim wger () orfdiw s ded

The First Five Year Plan was launchgd in: -
(1) April, 1950  (2) April, 19_51' (3) March, 1948  (4) March, 1951
(1) o, 1950 §  (2) o, 1951 & (@) W, 1948%  (4) A, 1951 %

PG-EE-2013/(Commerce)(A)
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The economic reforms outlined by Dr. Manmohan Si'ngh“had a distinct compbnent of :

(1) Fiscal stabilization (2) Banking sector loans

3) ED.LL (4) FIL
moﬁﬂ%ﬂﬁﬁfﬁmaﬂfé&ﬁ@yﬁw%@?ﬁ@?ﬁm#wnﬁﬂww
(1) ISy RedigRor &1 (2) 9T a7 B oA By

(3) wer gl e &t | (4) fo<eh SmTg ey &1

The New Industrial Policy announced on July 24, 19;r dismentaled :

(1) The Industrial Licensing : (2) The Tariffs

(3) The Custom Duties ' (4) The E.D.L limits

SerTE 24, 1991 31 AT 7 S shenfre Ny F fraveT far -

(1) <ireEnfre AR &1 (2) <RwT &1

(3) ¥ godt BT (4) faeeh ycuer e &Y Sl &1
The Natio.nal Rural Employment Guarantee Act was passed in :

(1) 2004 (2) 1991 (3) 20010 5as (4) 2005
RIS AT AR TRE Vae gre 3 T '

(1) 2004 ¥ (2) 1991 # (3) 2001 # (4) 2005 #

The physical capital that underpins economic growth and development is known as :

(1) Sustainable capital (2) Economic capital

(3) Base capital (4) Economlc infrastructure
memﬁwmmwwm% S AT 0T B

(1) i goh | (2) sidle qoit

@) omm Eh (t)onffe sitrege ot

"Overseas investment by ............ is named as foreign direct mvestment" One of the

following will complete the statement correctly
(1) private multinational corporation  (2) foréign government '

(3) foreign bank : . (4) foreign investor

PG-EE-2013/(Commerce)(A) P.T.O.
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() el WHR
@) faeeh fFaee

76. What is the main purpose of subsistence egriculture 2

" (1) to satisfy the personal consumption needs of households
(2) to satisfy the personal consumption needs of weaker sectlons _ :
(3) to satisfy the group needs of edible oils and foods
(4) “to produce excess wheats and grams
e P BT 9@ IR 7T Bl E 7
(1) TRARS & frT STHRT A STl BTG HRAT
) ﬂﬂaaﬁa%a‘rﬁaﬁm.eqﬁﬂﬁmﬁuym
(3) et P T Ao @ FrEEHA BT R B
(4) s w9 3 Mg g T IAE XA |

'77. Accounting for cost is based on:

(1) Single entry system - (2) Costincurred system

(3) Double entry system (4) Mix entry method

et @ forg o SR &1

(1) Toa wfafe yomell TR . (2) @FIG SUIE HOTel 0%

(3) Refife o W @ PBfpRRe T W

78. Converszon and administration costs are categonzed as: |

(1) actxwty costs gt "{2) running costs

(3) functional eosts - (4) periodical costs

SRR et e STt B afee R T & ¢

(1) frarefear smmdt @ w9 A (@) 9 e B W A

(3) BTt & T H (4) TS o B w9 A
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79. (Average Rate of Consumption per day x Maximum Reorder Period in every
emergency purchases) is equal to :

(1) Danger level of inventory (2) Average stock level
(3) Reorder level (4) Minimum stock level ;
@R T JART @) R x TS AU BT H AT G A T 9Y) TR © ¢
(1) W S @ H wR D () o 'R - _
(3) g#:a@qwa% : (4)%#@37&@“:5%?25 | : -
80. (Prime cost + + works overhead + opening work in progress — closing work in progress) -
tells about : : :
(1) Cost of goods sold : (2) Cost of goods produceci
(3) Works cost (4) Manufacturing cost -
%mmwm,+mmaﬁ+aqamﬂmmﬁmm_mqm$rmmm
(1) 9 TS TSN BT AT B AR H (2) STEd TGS P AT B IR A
(3) P @FTd B IR A | (4) frfol g & IR 4
81 . The price quoted for further future production is called :
(1) Tender price (2) Quotation price | .
(3) Supply price (4) Competitive price
afaer & forg Saes v @ fo Sga fy gU W@ B FEd €
(1) Ffaer g2 (2) 5§ T3
@) 9 T ) sy e

! o
82. If the contract price = Rs. 2,40,000; Natlonal profit of the contract = Rs. 10,800; Work
certified = Rs. 1,20,000; Cash received = Rs. 90,0Q0., What amount of national profit
will be transferred to P& L A/c? i f‘

(1) Rs. 4,500 (2) Rs.10,800 (3) Rs. 7,200 (4) Rs. 5,400

afe argEea M = 2,40,000 %o; w1 e W BT = 10,800 To; AR B B

M3 = 1,20,000 Bo; Hdha WET = 90,000 To T, T AMH-BI Wi ¥ BIdd o &7 foa-m

R s ?

(1) 4,500 %o (2) 10,800 %o (3) 7,200 %o (4) 5,400 o
PG-EE-2013/(Commerce){A) el : P.T.0.
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When goods are transferred from one process to another by adding some fixed
percentage as profit in it, then profit is called :

(1) Transferred profit . 2) Intérprocess profit

(3) Transferred profit of second process (4) Claimed profit

mwmwﬁmaﬁmﬁﬁamwmﬂﬁwqﬁmﬁwmmﬁm
2, o SH @M BT PEd ¥ ¢

(1) R @ @) T8 wfthar @1 RAhAT

() TR (@) ot

(Fixed Cost x Sales) + (Sales — Variable Cost) is equal to :

(1) Breakeven point : (2) Contribution

(3) Sales at breakeven point (4) Contribution ratio

(el AT x f3) + (s — aRaxdeire @mTe) SRR &

(1) wafees g @ (2) 3FTEH &

(3) wHfawsT fag W famy (4) | U

Income Tax Act, 1961 is :

(1): Revenue Law : (2) Money Laundering Law
(3) Ordinary Law (4) Income Burden Law

IR A, 1961 § : |

(1) Ye=y s - ) gmﬁq?ﬂé affam

(3) wmerRer SRt (4) g yR AR

Taxable income of an assessee can not 'béicompﬁtéd unless we know his :
(1) Total deduetions under Section 16 |
(2) Total exemptions u/S 80

(3) Residential status in India

(4) Age ondue date

PG-EE-2013/(Commerce)(A)
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fvll BRarET B FR-IAFY AT F d4 TH T B BT L o9 TP 5 IO TRt
fr=fafag Smer 7 e oy -

(1) 9RT 16 % TEF SHS! HA Belfoar
(2) 4RI 80 % e SHS! FA HR-Jad A
(3) SHS! YRA ¥ maritg Refy

(4) FuiRa ffsr = soa <5

Any incbme derived by a political party by way of capital gains is :
(1) exempted with certain conditions

(2) always taxable

(3) exempted upto 50% of capital gain

(4) 80% exempted

RISTHICTes & ERT B8 1 3mg Yofl @il gRT w912 7% &1 o) a8 -

(1) BB & & | FR-Jod Bl

(2) THEM BR-IY B 2

(3) Yot &Mt wR 50% B fierh 2

(4) ToN &7 80% FR-Had BT B

Income chargeable under the head salaries is explain under :

(1) Sections 15, 16,17 and 18 (2) Sections 15, 16,17, 18 and 19

(3) Sections 14, 15 and 16 (4) Sections 15,16 and 17 :
q B =TI PR-AT I BT FrefRor P ¥ ¥ 5 aRmel @ @z e R ?
(1) g~1¥ 15,16,173R18 - (2) oRTY 18, 16,17, 18 3R 19

(3) uRT 14,15 3R 16 (4) R 15,16 3R 17

The Standard Rent of a house property can not exceed the rate determined by :
(1) Mumapal Corporation (2) Rent Control Act

(3) Tribunal (4) Central Govern.mént

WWWWWWW@%WH@E#WG&W%W#W@H
e

(1) gRus sORee gr : (2) fa=mar fFra=or sfRfags grr
@) feeger g1 (4) I=NT TWHR g/
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additional depreciation is allowed :

(1) at the rate 6f 20% of cost in installed 'year
(2) at the rate of 10%40If cost in installed year
(3) at the rate of 20% for 5 years

(4) at the rate of 10% for 5 years

aﬁaﬂéaqgaﬁw%sloazoosa?aﬁwqawﬁﬁﬁnéaaﬁwwaﬂ%ﬁw
& WIPpd BT 2

(1) <enfoe o< et af ¥ 20% ST W
(2) wwa&ﬁmnau-\rm%aﬁa?é
i 4 (3) WG ast TF 20% B WA
| (4) dr st a® 10% 7 R A

91. If an Assistant Commissioner of Income Tax imposes the penalty of more than
Rs. 20,000, he will have to seek permission from :

(1) CBDT (2) Chief of Central Zone
(3) Commissioner of Income Tax (4) Joint Commissioner of Income Tax
aﬁwwwmﬁsﬂzoooomﬁa@ﬁmqahaﬂw% ﬁra'@fsm‘?%tf
oty el 2
(1) o o o oA | (2)%@?%3‘&9’&1@
(3) IMTFR HEATR A (4)maﬂﬂgaﬁ$ﬁmﬁ
92. The rate of education-cers on individualsis: = -
(1) 3.8% on income tax amount (2) 3.5% on taxable income
(3) 4% on taxable income ~ (4) 3% on income tax amount
afaa (aﬂmm)wﬁmwa%ﬁ}%-: ' |
(1) mgaR o1 IR R 3.8% (2) I (@R-IY) R 3.5%
€) HR-ATY T R 4% (4) IFH B AR R 3%

PG-EE-2013/(Commerce)(A)
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Examination of the nature, extent and efficacy of the system of internal check and
central is a procedural step of :

(1) Audit Control | (2) Audit Programme

(3) Audit Procedure : (4) Statutory Audit i

SFTIRG Wirg AR Fra=eT #1 5ehy, AR R sfauda & wET e (e Feq &
(1) siderr o B (2) 3feror ST BT ,

(3) simeror fafer w1 (4) BTN ABEOT BT :
Which one of the following audits is made on the basis of objectives ?

‘(1) Internal audit (2) Management audit

(3) Armual audit (4) Interim audit

=1 & & Pr-w1 sfderr SqReEl @ MR W) fsar Wi @ ?

(1) AT=<IRP 3fBagor (2) FE=T 3fheroT

(3) arffs sfperor (4) sraRk# sfdefor

An Auditor's plan of action is known as :

(1) Audit Memorandum (2) Audit Budget

(3) Audit Statement (4) Audit Article

Spets B fhara= & AT BT ST S B _

(1) Simemr HANSH @ 7H 9 (2) ABeIr golc & W J

(3) 3idperr fAaver & 9W |q (4) D& FTWT B AH A

A written plan containing exact details regarding the conduct of particular audit is
known as : | i _

(1) Audit Details (2) Audit Memorandum
(3) Audit Programme (4) "Checking Plan

Wf&sﬁwmﬁw%wﬁmﬁmﬁm%@a%ﬁmﬁ%ﬁﬁmm%'
I S W@ §

(1) e fawor ¥ (2) siderr FHREH
(3) 3iberor WU A (4) BT IroT A
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97. A documentary evidence in support of a transaction written in the books of accounts,

is called :
(1) an Indent (2) aReceipt (3) aLedger Folio (4) a Voucher
?mﬁm@mﬁmﬁmww\ﬂmaﬁawm
(1) TP g7 (2) TF S (3) TH ISR IR (4) TP AHR
98. "Audit ‘repdrt is a summary of the conclusions as derived from collected and
considered data in .............. ." Which one of the following will correctly fill the blank ?
(1) Auditor's opinion : (2) Auditor's signature sheet
(3) Audit para (4) Audit sheet
SR RAE ........... BT T RER By MY steet & Pew s @ W
(Frare) 2l 21 w@reh we ¥ R Ry T el § SE-Ar 98 v F B 7
(1) siPperd & fdar # (2) 3iPeTh B TERR e A
(3) 3iperor 4T H (4) ey e A
99. A breach of duty or trust involving the.company in a loss, is called :
(1) Misfeasance  (2) Misdeed ~ (3) Misbehaviour (4) Offénce
f A T WY BT TeoET IRAT R FA B @l B ), S ped
(1) 3r@HRoT (2) 3ToRmT (3) HER @) forear

100. The first auditors of the company are generally appointed by the :

(1) Shareholders (2) Creditors and Debtors

(3) Board of Directors (4) Chairman of the Company
m#ra#wﬁma’fﬁﬁrgﬁﬁmwmﬁﬁ%:

(1) sieenfal & grr (2) ATERT vd ATERY ERT
(3) W e Ty e B e EE
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